Roll No. Answer Sheet No.
Sig. of Candidate. Sig. of Invigilator,
CHEMISTRY 8$S8C-I

SECTION — A (Marks 12)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. Ali parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes smd handed over to the Centre Superintendent.
Delsting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circie the correct optlon i.e. A/ B/ C /D. Each part carmies one mark.

(i The empirical formula for caffeine (C;H,,N,O, ) is:

A C,H,N,O B. C,H,N,O0 C. C.H;NO D. C,H,NO,
(i) How many atoms are there in 1.25 moles of Zinc?

A 6.53x10% Zn atoms B. 7.53x10” Zn atoms

C. 8.53x10” Zn atoms D. 9.53x10% Zn atoms
{iii) Identify the number of electrons that f~subshell can accommodate.

A 2 B. 6 C. 10 D. 14
{iv) Keeping in view Auf Bau Principle, identify the energy leve! which the electrons fill first.

A 2P B. 28 C. 1S D. 38
V) The electronic configuration “1S>28?2P¢3S?* belengs to:

A %Si B. »Mg c. Al D. °Ar
{vi) Indentify the element which has the largest atomic radius.

A Mg B. Ca C. Cs D. Fr
(vii) Which of the element of the 3rd period has highest electronegativity?

A Na B . P C. S D. Cl/
(viii) Identify the covalent compound.

A. KF B. H,0 C MgO D. NacC/
(ix) How many moles of Na atoms are presentin 2.3 g of Na ?

A 0.15 moles B. 1.5 moles C 0.1 moles D. 1 mole
(%) The oxidation state of Bin H,BO, is:

A +2 B. +4 C. +3 D. +5
(xi) Galvanizing is:

A Coating with Cr B. Coating with Cu

C. Coating with Zn D. Coating with Sn

(xii  Consider the following reaction: CuO+H, ——Cu+H,O In this reaction CuO behaves as:

A Electrolyte B. Catalyst C. Oxidizing agent D. Reducing agent
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CHEMISTRY SSC-i 0 (

Time allowed: 2:40 Hours Total Marks Sections B and C: '53

NOTE: Answer any eleven parts from Section ‘B’ and any twe questions from Section ‘C’ on the separately

- provided answer book. Use supplementary answer shest i.e. Sheet-B if required. Write your answers
neatly and leglbly.

SECTION — B (Marks.

Q.2 Answer any ELEVEN parts. The answer to each part should not exceed 3 fo 4 lines. (11x3=33)
(i} Determine the molecular mass of:
a. (NH,),CO b. NH,NO, c. C.H,,0
(i) Define heavy water. Give the comparison of ordinary water and heavy water.

{iii) What is Carbon dating? How does Carbon — 14 dating work?
(iv) Define periodic table. What is its base?
W) Define atomic size. Interpret trends in atomic size across groups and periods.
(vi) Draw Lewis electron cross and dot structures for the following molecules:
a. CCl, b. SiCl, c. O,
{vii) Enlist the main postulates of Kinetic Molecular Theory.

(vii)  The boiling point of water on the top of Mount Everestis 70°C while in Murree it is98°C . Give the reason.

(ix) Why tin plated steel is used to make food cans’?

(x) Sketch out an electrolytic cell, label it and indicate the direction of flow of electrons.

(xi) Arrange the following in order of increasing acid strength: HC/, HI, HBr and HF

{xii) With the help of chemical reaction prove how breathing equipment keeps sea divers alive under water
surface?

{xiii) Define oxidation and reduction in terms of loss and gain of electrons. lllustrate the concepts with the help
of examples.

(xiv) Differentiate with the help of suitable examples:
a. Atom and ion.
b. Molecular ion and free radical.

(xv)  How can oil tanks be prevented from corrosion? Support your answer with diagram and an example.

SECTION - C (Marks 20)

Note: Attempt any TWO questions. All questlons carry equal marks. (2 x10=20)
Q.3 a Make Bohr's models for the following elements: (06)
a. Potassium (};K ) b. Silicon (1,8i) c. Argon (j2 Ar)
b. State postulates of Dalton’s atomic theory. What is the basic contribution of this theory for chemical
science. (04)
Q.4 a Define ionic bond. Use electron dot and cross model to write the equation for the formation of an
tonic compound. (08)
b. What is hydrogen bonding? Exptain hydrogen bonding in water by utilizing electron dot and cross
structure. . ~ - (04)
Q5% a What is corrosion? Explain corrosion of iron with the help of chemical equation. ‘ {05)
b. Sodium Chioride and Glucose both are soluble in water but the solubility of Sodium Chloride ( NaCl)
is greater than glucose. Why? Explain (05)
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CHEMISTRY 8$SC-I
SECTION-A ks 12

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be anewered on the question paper itself.
It should be completed in the first 20 minutes smd handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/D. Each part camles one mark.
(i) A compound with chemical formula BaSX, has formula mass 233amu . Atomic mass of the

element X is:

A 16 B. 12 C. 23 D. 106
{ii) 0.25 moles of SO, will contain:

A 2.5055x 10" molecules ‘B. 1.5055%10® molecules

C. 3.5055x10% molecules D. 4.5055x10% molecules
(iii) Identify the isotope of Uranium used in nuclear reactors:

A. U B. »u C. U D. ZTh
(iv) Identify the isotope used as a Tracer in diagnosing Thyrocid problem:
_ A Carbon-14 B. Cobalt — 60 C. lodine—131 D. -~ lodine—123
(v) The period number of phosphorus is:

A 4 B. 3 - C 2 D. 1
(vi) Which of the following elements has greater shielding effect?

A Rb B. Li C. ‘Na D. K
(vii) In NaCl! cubic crystal each C/'ion is surrounded by Na' ions.

A 8 B. 6 C. 5 D. 4
(viii)  In which of the following processes speed of particles decreases?

A Evaporation B. Sublimétion C. Condensation D. Boiling

(ix) A solution contains 0.05 moles of KMnO, in 608Bem’ of solution. The morality of this solution is:

A 1™ B. 0.083M C. 2M D. 0.093M
(x) Which compound acts as a fixer in photography?
A BaSO, B. Na,S$,0, C K,SO, D. CuSQO,

(xi) Which of the following elements in the given reaction is reduced? ZnO+H, —— Znt+H,0

A ZnO B. O C. H, - D. Zn
(xii) Identify the metal used as a catalyst in contact process:
A Fe B. Pt C.  Ni D. Zn
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CHEMISTRY SSC- lg

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Sectlon ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.c. Sheet-B if roquired. Write your answers
neatly and legibiy.

SECTION - B (Maghe 33)

Q.2 Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x3=33)
(i) Calculate the number of molecules present in 3.4 moles of Ammonia (NH, } [At. No. N=7 ,H=1]
(ii) The atomic number of an element is 26 and its mass number is 56,
a. How many protons and electrons does an atom of this element has?
b. How many neutrons does this atom has? Draw Bohr model of this element.
(i) Electronic configurations of atoms of some elements are given below. Classify them in groups and
periods.
a. 182 287 b. 187 2872P° ¢ 182 28%2P°
(iv) Which element has higher shielding effect, Ca or Sr and why? [At. No. Ca =20,Sr =38]
(V) How do epoxy adhesives stick to other substances? Give the reason.

(vi) Make Lewis dot structure of the following compounds:
a. CH, b. H,0 c. Co,
(vii) Water boils at 120°C in a pressure cooker. Why?
(vii)  Why is methanol soluble in water but benzene is not?
(ix) Differentiate between spontaneous and non-spontaneous process with the help of examples.
(
(

X) List three uses of electrolytic ceil.

xi) Identify more metallic element in each pair of elements. Give the reason.
a. K ; Na b. Be ; Na C. Be ; B

(xii) Find the oxidation state 6f Sulphur ‘ S’ in the following compounds:
a. H,S b. H,SO, . c. Na,S,0,

(xiii) How is ozone important for us? Give reason.

(xiv)  How does evaporation lower the temperature of & iquid?
(xv) Represent the formation of cations for the following metal atoms by electron dot structures:

a. Na b. K c. Ca
&
SECTION-C 0 1
Note: Attempt any TWO questions. All questions carry equai marks. ' {(2x10= 010)
Q.3 a Define covalent bond and illustrate the formation of covalent bond with the help of suitable examples. (06)
b. Why iron metal is hard and sodium is soft? interpret with the help of electronic configuration of both
metals. (04)
Q4 a Define solubility: Elaborate the factors that affect solubility with the help of suitable examples. (0B)
b. Calculate the number of molecules in 0.50 moles of methane {CH, ) (04)
Q5 a Explain electrolytic refining of copper with the help of diagram and chemical reactions that take place
' during the process. o (06)
b. Alkali metals belong to S-block of the periodic table. Why? Give suitable examples in support of ‘

|
your answer. 4 ' : . : (‘T)
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